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QUESTION 1

The Cost Accountant has reported to the Production Supervisor that the Work Order transactions are not
getting transferred to Costing.

Identify the reason for work order transactions not getting transferred to Costing.

A. The Manage Item Rules setup is not complete.

B. The Costing Interfaced Attribute is enabled in the resource definition.

C. The item was made inactive after the Work Order transaction.

D. The Costing Interfaced Attribute is not enabled in the resource definition.

Correct Answer: D

QUESTION 2

During a Manufacturing Cloud implementation, the customer request to develop Oracle Transactional
Business Intelligence reports that are not available out-of- the box.

Identify the tool that is available to the Report Developer in Manufacturing Cloud to develop the reports.
A. Oracle Business Intelligence Standard Edition

B. Oracle Business Intelligence Publisher

C. Oracle Business Intelligence Enterprise Edition

D. Oracle Business Intelligence Application

Correct Answer: B

QUESTION 3

In a Manufacturing Cloud post production support environment, a user wants to update some of the
operations in the work orders by using the Midpoint Scheduling feature. However, the user is unable to
update any of the orders.

Identify two reasons.

A. The work order operations do not have operations start or completion date.

B. The scheduled resources are not part of the organization selected by the user.

170-1075-22 PDF Dumps | 1Z0-1075-22 Practice Test | 120-1075-22 Exam Questions


https://www.leads4pass.com/1z0-1075-22.html
https://www.leads4pass.com/1z0-1075-22.html
https://www.leads4pass.com/1z0-1075-22.html

https://lwww.leads4pass.com/1z0-1075-22.html

Leads4Pass o iaes leads4pass 120-1075-22 PDF and VCE dumps Download

C. None of the operations include scheduled resources.
D. The operations are missing sequence.

Correct Answer: CD

QUESTION 4

Identify three entities that must be set up in Oracle Manufacturing Cloud to create a Work Definition for an item that will
be manufactured in-house.

A. Operation Items

B. Resources

C. Production Line

D. Operations

E. Manufacturing Lead Time

Correct Answer. ABD

QUESTION 5

Identify the three sources from which supply chain orchestration (SCO) can create the work orders.
A. Order Management

B. Quality

C. Inventory Min-Max Planning

D. Procurement

E. Planning

Correct Answer: ADE
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